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Y9 Pythagoras’ Theorem
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What do | need to be able

fo do?

By the end of this unit you should be able to:
Use square and cube rools

Identify the hypotenuse

Calculate. the hypotenuse

Find a missing side in a Right angled
triangle

Use Pythagoras™ theorem on axes
Explore proofs of Pythagoras” theorem

Square. rumber: the output of a number multipled by itseff

Square root: a value that can be muttipled by itself to gve a square number
Hypotenuse: the largest side on a right. anged triangle. Olaus oppostte. the right angle
Opposite: the side oppostte the angle of interest

Odjacent: the side next to the angle of interest
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I I :
| Squares and square roots @  Vstespmatspi | Identify the hupoteruse |
: O BB EEE EEES This can akso be written s 6 E@ng ” I
| oono I
| 1=l 2x2 3x3 4x4 5x5  6xB 7«7  §x8 4x4 1010 I / :
I I

4 9 6 25 36 49 64 8 100 oA
| - ! Hypotenuse |
Lo e I |
r& ——-. T T T T T T T T T T al |
| Determine if a triangle is right-angled ” Tre hypotenuse. s aags the I
| t ongest sde.on a triangk. becase. t |
I If & trigngle s aghl-angled, the sum of the squares of the shorter sides wil equal the 1 is opposite. the biggest angle |
I square of the hypotenuse 1 :
I [l
| g a* + b* = hypotenuse? Il :
I i 2 2 2 Il Polygons can sthhave a |
| eg a 2+Jb 2_ hy;;otenuse Substituting the rumbers into the I: - hypotenuse. f 1. s spit up info |
| 324+42=75 } theorem shows that this is a | tringies and opposite a rgh, |
La——3 b4 ¢-5 9 +16=25 rght-anged triongle ” e |
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N o I )
| Calculate the hupotenuse | | Calculate missing sides 1! Pythagoras” theorem on a |
: . lrer of the : | e of e 'I coordnate axis |
| 3cm cm shotsdes | Hypotentse 15 cm short sides || |
| can be ,: cmte || Find the length of the Ine segment :
lbeled a or b bbeled aorb |, 64—
| l | |
I Hypotenuse. | : 2 12em :I j / J,— ] The segment can |
I | | - bemae roa |
| a’ + b? = hypotenuse? | : a? + b% = hypotenuse? :| z | rgnl-ongled |
| L | | lwngebyaddng |
I | 1224b% = 152 I ‘ the sides on the
| lSstlente ] B _ |: CTETITIE Y g :
| valves for a and b yp | | | Substitute n the. values you are gven | | |
| 9 +36 = hypotenuse? | : 144 + b? = 225 :| The. Ine, segment s the hypotenuse |
| 45 = h 2 | o - | I
| 2 To find the ypotenuse® : Rearrange. the. equation by subtracting the shorter I| a? + b? = hypotenuse? |
| hypotense : | square from the hypotenuse squared : | — |
: square rool the V45 = hypotenuse | | Square rool 1o b% =111 |: The knglhs of a and b are the :
sum of the | I the brth | sides of the tnangle.
| squaesof e 6.71cm = hypotenuse | | ' i dz b =+viil = 1054 cm I| |
I dhorter sces | O 1 Be cartocheckthe scak on he aes |
- e B |
Curiosity Compassion Courage




